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WA Daily Foit Senics pon Papen - 1 Exancs )
1. The teacher has been glorified by the phrase
"Friend, philosopher and guide™ because:

(A) He has to play all vital roles in the context of
society

(B) He transmits the high value of humanity to
students

(C) He is the great reformer of the society

(D) He is a great patriot

1. frersr st "'firmr, qreffer ofR Amiesies"" ararrer grr AfeHT € M8
HERIES

(v) 30 GuIS o vl H wft wecal yfeRnd fwt §
(&) =% BT % foTg ATEET & I g S JEIRT T 8
(¥ft) = TS T e GURE

() 3% T 7S I @

Answer: (B)

2.The most important cause of failure for teacher
lies in the area of:

(A) inter personal relationship

(B) lack of command over the knowledge of the
subject

(C) verbal ability

(D) strict handling of the students

2. 1t o T forchardt o1 Herel Wecaqul 0T 36 &1 | Hied o
(v) sicr afwTd wefer

(sfY) forser & 0 W reE o T

(<) SRaek agwrar

() =T i e defem

Answer: (B)
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3. A teacher can establish rapport with his students
by:

(A) becoming a figure of authority

(B) impressing students with knowledge and skill
(C) playing the role of a guide

(D) becoming a friend to the students

3. T TX7eter 3199 BEI o "1 AT U ST EehdT @

() TTTRrREOT i1 T SHieheT 9 @l 2

(=) I TR =Tt & AT BT T THTIAT BT
(%) we mmiexter st sfireht 1 Tt @

() =t & T weh S 5 T R

Answer: (B)

4. Education is a powerful instrument of:

(A) Social transformation
(B) Personal transformation
(C) Cultural transformation
(D) All the above

4. 3181 Uk Wikt | ©:

() |t e (+ft) Tiewfae afEd
(sh) e wfterd () 3 Tft
Answer: (D)

5. A teacher's major contribution towards the
maximum self-realization of the student is affected
through:

(A) Constant fulfilment of the students' needs

(B) Strict control of class-room activities

(C) Sensitivity to students' needs, goals and
purposes
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(D) Strict reinforcement of academic standards

5. formeff o srfrerdn strer-weATehR % foru weh Rreres 1 wq@
AR foheeh ATE § TTferd B 2

(v) B i SATaREwRATeAT shi AT 9fd

(=) Fema-ww nfafafm & v fFRE

(¥fT) BT T ATeRIHATHAT, TEAT SN ILTAT o it FAGATAAT
(1) <Neaforeh Wi T T HISIHT

Answer: (C)

6. Research problem is selected from the stand
point of:

(A) Researcher's interest

(B) Financial support

(C) Social relevance

(D) Availability of relevant literature

6. srguuT g & fog ¥ =@fa 2

() Sirerehat i wfr

(i) foretr demar

(=) wrnforen sTifiTeRdT

() vl Afee st SqTedar
Answer: (C)

7. Which one is called non-probability sampling?

(A) Cluster sampling

(B) Quota sampling

(C) Systematic sampling

(D) Stratified random sampling

7. foreent TR-HTRIAT T el STt 87

() FeTeet TR
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(1) =rer T
(¥f) wrarfeera T
(&) =t agfes g
Answer: (B)

8. Formulation of hypothesis may NOT be
required in:

(A) Survey method

(B) Historical studies
(C) Experimental studies
(D) Normative studies

8. UfereTHT 3 e T ITEYIRAT el B Fhdl B

() wdegor fafer (&) wrifires sre
(ft) wfcrerférer srem (1) "= st
Answer: (B)

9. Field-work based research is classified as:
(A) Empirical (C) Experimental
(B) Historical (D) Biographical
9. Free-ach e WY T 36 FohR affepa foham mam 2:
(v) e (&) smafren

(sh) fcrerfeh () Sfreeft
Answer: (A)

10. Which of the following sampling method is
appropriate to study the prevalence of AIDS
amongst male and female in India in 1976, 1986,
1996 and 20067

(A) Cluster sampling
(B) Systematic sampling
(C) Quota sampling
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(D) Stratified random sampling

10. 1976, 1986, 1996 3w 2006 # wia & T&¥ iR Afean
o it Ugh T SATIHAT T TEATH A & fore freafafaa & & 9

a1 7 fafer Suaes 27

(1) e TR

(sft) sHafeerd TR

(¥f) e oz

(<) =t agfema Fgmerer

Answer: (B)

Read the following passage and answer the
questions 11 to 15:

The fundamental principle is that Article 14
forbids class legislation but permits reasonable
classification for the purpose of legislation
which classification must satisfy the twin tests of
classification being founded on an intelligible
differentia which distinguishes persons or things
that are grouped together from those that are left
out of the group and that differentia must have a
rational nexus to the object sought to be achieved
by the Statute in question. The thrust of Article
14 is that the citizen is entitled to equality before
law and equal protection of laws. In the very
nature of things the society being composed of
unequals a welfare State will have to strive by
both executive and legislative action to help the
less fortunate in society to ameliorate their
condition so that the social and economic
inequality in the society may be bridged. This
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would necessitate a legislative application to a
group of citizens otherwise unequal and
amelioration of whose lot is the object of state
affirmative action. In the absence of the doctrine
of classification such legislation is likely to
flounder on the bed rock of equality enshrined in
Acrticle 14. The Court realistically appraising the
social and economic inequality and keeping in
view the guidelines on which the State action
must move as constitutionally laid down in Part
IV of the Constitution evolved the doctrine of
classification. The doctrine was evolved to
sustain a legislation or State action designed to
help weaker sections of the society or some such
segments of the society in need of succour.
Legislative and executive action may
accordingly be sustained if it satisfies the twin
tests of reasonable classification and the rational
principle correlated to the object sought to be
achieved.

The concept of equality before the law does
not involve the idea of absolute equality among
human beings which is a physical impossibility.
All that Article 14 guarantees is a similarity of
treatment contra-distinguished from identical
treatment. Equality before law means that among
equals the law should be equal and should be
equally administered and that the likes should be
treated alike. Equality before the law does not
mean that things which are different shall be as
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though they are the same. It of course means
denial of any special privilege by reason of birth,
creed or the like. The legislation as well as the
executive government, while dealing with
diverse problems arising out of an infinite variety
of human relations must of necessity have the
power of making special laws, to attain any
particular object and to achieve that object it
must have the power of selection or classification
of persons and things upon which such laws are
to operate.

et fogia 7% 2 o sgeae 14 e s o fftrg s
8, TIfeR T o 3e2d o Torg 3ferd affertor i s1gwfer 3t &, S
STTeRToT T SfGATHT & ST B T TG fohT ST aTet affsheor
% Seat e i §qE FHAT AMCE S A RN AT = B
AT LT & TR I <At & St {3 sirar @ 92 e st
T STt @ g 7R 3 e i ThETd §9 § 39 39 % 17T
T qehETd Wig-Tie g1 =fey, S foremrefs s s W
foparr ST R1 Fgeee 14 1 SR A€ @ foh AmTies i & wne
FUEAT AR FEAT ok GHE HIEUT FT THAR ©| GHIS H
AT § Hid 8 areft =S i g JHid H, HeATHRT
TS 1 AT Rt sht G o ToTe |wTst § | rriTedt «AnT
#T Aeg A & oI FESRT AR faumrh wiar q7 w1y
AT BN Tk THTST | ATHTISR ST AT ST 3T aTeT ST
Heh| 39 [T ANTIGRT % T 69 1 UF fqurl e &
SATETIRAT BRfY, ST A AR T3 fres fore wea i
qfS FHATS H1 I3 2l HHT o fogia i srqafeta o 36 a@
% I o TT=ee 14 § qudr & o€ e T S 8 |oew
o a1 1V 4 anfiereor =1 fogia foehitia g frgia s s a0
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T I TS ol SHTC T o foru farepfra femam mam o i wamsr
o FHHSI T AT THTS o F© W &1 § 738 L 6 118, fesTrsd
fopam T em) foremeft 7R FRIwRT FiaTs GEER o HeRdl @ SR
Fg 3ferd afiertor & S[gdt FEUll S HqE HAT @ I AT F
& for wivft 7 areq & weifaa qeheTa gl

A o G WHAAT hl SFTIRON H AT o ot qof
Tt 7 foem wnfier 7€ @ S uen i stemar 31 el
FFede 14 T IR AR I UF GHMAT § S IR
¥ T 2 FH § TS HEFAT T A & fF aedt & o=
FIT A ST T S T &G § TG SHT =AMLY SR
TS T FHA HHAT ST AMMeY) HF o WH FHAT BT AT
g 78 & fop S < o1 € 3 98 & B ft o 3 U € B T®
Tfera &9 & 571, U a1 39 e & HROT § o fomiy faifeer

H dfd T H AT 8| FEH F ATI-ETT FREFE TR,
faftrr werr it A geiEi & RO Scq B areft fafier
el | e % [oTg SATeaehdr 1 foRIY T =M, fhut
fore 3% 1 W A IR W AL F W FA A B
=1y AfHar SR =Sl 1 =2 A1 ffeor S8 G T
TTferd B &

11. Right to equality, one of the fundamental

rights, is enunciated in the constitution under Part

11, Article:
(A)12 (C) 14
(B) 13 (D) 15

11, gar o At diferss afeed & | e, | & q=a
wforem o afvld 2, Tese:

() 12 (=) 14

(=) 13 (&) 15
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Answer: (C)
12. The main thrust of Right to equality is that it
permits:
(A) class legislation
(B) equality before law and equal protection under
the law
(C) absolute equality
(D) special privilege by reason of birth
12. guTar i1 AR 1 e SR IE § fF a8 STguld o &
() = forem
(sft) =T % THeT GHIAT ST HT o ded qH GLaT
() ot e
() 5 = wror fomm foemfierr
Answer: (B)
13. The social and economic inequality in the
society can be bridged by:

(A) executive and legislative action
(B) universal suffrage
(C) identical treatment
(D) none of the above

13. TursT § GrmTioreR 3R SATfe STEHTAT i fH TehR & yeiferd
f3Ram ST weha 2

(v) R Si fererrft rdas

(CDEIERIEER I BE

() o0 3=

(&) s | | 1S T

Answer: (A)
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. 14. The doctrine of classification is evolved to:

(A) Help weaker sections of the society
(B) Provide absolute equality

(C) Provide identical treatment

(D) None of the above

14. sfisror =t fargia F=ferfaa 2:

(v) =TT % FESIR ) ol HEG AT
(CHRNKLIECIFEEEY

(+ft) 9 7=’ Y& L

(D) 3w § & ®IE &t
Answer: (A)

15. While dealing with diverse problems arising
out of an infinite variety of human relations, the
government

(A) must have the power of making special laws
(B) must not have any power to make special laws
(C) must have power to withdraw equal rights

(D) none of the above

15. fofiy= R o A Geret | Seq T amenet o foed
& S, TR

() % T Ferd ki S T IRE B =R

(=) 3 o Fer T ST AT RS T AR e =R
(&) o ure gu SRR e o T wie S iR
(&) 3o & & 2 7

Answer: (A)

16. Communication with oneself is known as:

(A) Group communication
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(B) Grapevine communication
(C) Interpersonal communication
(D) Intrapersonal communication

16. T % |1 §9R % ®T § AT S0 2

(v) wwE w=m () urEafr g=R
(sft) TaTsT H=w () Ferda @=w
Answer: (D)

17. Which broadcasting system for TV is followed
in India?

(A) NTSE (C) SECAM
(B) PAL (D) NTCS
17. ara & & & forg s & samor yoredt 272

(v) wrems (1) SECAM
(sf) aret (31) T
Answer: (B)

18. All India Radio before 1936 was known as:

(A) Indian Radio Broadcasting

(B) Broadcasting Service of India
(C) Indian Broadcasting Service
(D) All India Broadcasting Service

18. 1936 @ ugst ATt gfeam e o & | SHT ST o

(v) et dear samor

(sfY) s <t ST Sar

(&) el ST Sar

() siRaa IR yEwoT Far
Answer: (C)

19. The biggest news agency of India is:
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(A) PTI (C) NANAP
(B) UNI (D) Samachar Bharati
19. wra it g I TR ToE

() direms (&) NANAP
(&fr) Feres C)ELEEE
Answer: (A)

20. Prasar Bharati was launched in the year:
(A) 1995 (C) 1999

(B) 1997 (D) 2001

20. SR Rt 3§ 37 T & o

(v) 1995 (<) 1999

(sf) 1997 (%) 2001
Answer: (B)

21. A statistical measure based upon the entire
population is called parameter while measure
based upon a sample is known as:

(A) Sample parameter

(B) Inference

(C) Statistics

(D) None of these

21, €Ul ST T STHTNG Uk WiReTshid WId shi I e
ST 8, Sefeh T % TR T AT I 7 % § F 1 €T 2

(@) T e ‘ (ef) wifiezhr
(sh) orerert () =78 & Fg T
Answer: (C)

22. The importance of the correlation co-efficient
lies in the fact that:
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(A) There is a linear relationship between the
correlated variables.
(B) It is one of the most valid measure of statistics.
(C) It allows one to determine the degree or
strength of the association between two variables.
(D) It is a non-parametric method of statistical
analysis.

22. e-dsie 1 Hecd 39 29 § fAfed ® fh:

(v) Tesieg =1 & s weh WRae e 2

() =5 stferei & T=® I AU F F U 2

() 7= a1 =1 o i wEifeeE i feift a1 arRa 1 i e
T ST 3ar 2

() 7= wifleeha forsduor st weh TR-Tarifeen fafer 2l
Answer: (C)

23. The F-test:

(A) is essentially a two tailed test.

(B) is essentially a one tailed test.

(C) can be one tailed as well as two tailed
depending on the hypothesis.

(D) can never be a one tailed test.

23. TH-eE;

(v) sifemd &7 & T &t g wa 2

(&) sfemd w9 & w4 wle 2

(%) wfErea T % STER W T 4 F @-Are & 9 o 8 weRdt
gl

(1) Fxft +ft v 4 AT wEr T & ek 2

Answer: (C)
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24. What will be the next letter in the following
series?

24, Frafafad sfeer § ST letter T GRT?

DCXW, FGVU, HGTS

(A) AKPO (C)JIRQ
(B) JBYZ (D) LMRS
Answer: (C)

25. The following question is based on the diagram
given below. If the two small circles represent
formal class-room education and distance
education and the big circle stands for university
system of education, which figure represents the
university systems?

25. fafafad wo Hi=r fiw e sme W senfia 21 AT @ R 99
3ffoerTien sheaT-shed fRrer 7R grey fRven 1 wfdffeae e § 3k
o1 9 fopafornera i e yomedt < foQ 2, dr @ & Al
frafoare yoreft 1 gfaffe w872

(A) OOO (B)
(C) @O (D) @3

Answer: (B)

26. The statement, 'To be non-violent is good' is a:

(A) Moral judgement
(B) Factual judgement
(C) Religious judgement
(D) Value judgement
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26. =, 'SAfeHs BT A=BT 2

() =i Fot (&) enfifer faofar
(ft) Teamener ot () "= faoig
Answer: (A)

27.  Assertion (A): Man is a rational being.

Reason (R): Man is a social being.

(A) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

27. sfverer (A): 77 Th dehaTa STt &

#FrOT (R): 7 we |mrtess st )

(v) T (T) 3R (31R) & 2 3k (1) @&t foawor 2 (U)

(=) 2 (T) 3R (3R) &= & <ifehT (3TR) &t faeer 72 & (T)
(=) (v) T= & AfT (IIW) TTeta @

(@) (v) 7era ? @fer (37R) w= 7

Answer: (B)

28. Value Judgements are:

(A) Factual Judgements

(B) Ordinary Judgements

(C) Normative Judgements

(D) Expression of public opinion

28. 7= fofa €
(v) qeaTeT= for (&) "= fofar
(1) wremeor feofer (1) Swa i frate
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Answer: (C)

29. Deductive reasoning proceeds from:

(A) general to particular

(B) particular to general

(C) one general conclusion to another general
conclusion

(D) one particular conclusion to another particular
conclusion

29. feefea tafim @ =1

() forrs & wmmT=r

(sft) fomry &9 & "= FH & foTw

(&) woh wmT= foreehed gt ar ke o fog
(S1) weh oz Fshe q@t fety e o feru
Answer: (A)

30. AGARTALA is written in code as 14168171,
the code for AGRA is:

(A) 1641 (C) 1441
(B) 1416 (D) 1461

30. AGARTALA =1 14168171 = ®9 & =i # forar mn
2, AGRA % fiu shig ©:

(v) 1641 (1) 1441
() 1416 () 1461
Answer: (D)

31. Which one of the following is the most
comprehensive source of population data?

(A) National Family Health Surveys
(B) National Sample Surveys
(C) Census
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(D) Demographic Health Surveys

31. f=fafad & & s SHEEAT 22T 1 98 A9 Jid 27

(v) T afEam Tamees wae
(&ft) Tretar o wefeor
(Gi)SEUEE

() il T@meT gaan

Answer: (C)

32. Which one of the following principles is not
applicable to sampling?

(A) Sample units must be clearly defined

(B) Sample units must be dependent on each other
(C) Same units of sample should be used
throughout the study

(D) Sample units must be chosen in a systematic
and objective manner

32. frmfafaa & @ = |1 frgid T ot <m0 2t 272

() T gehEA Bt TUE w0 & affie fopa ST =TT

(sfT) T SehTSAT k1 Toh gEL 9T it T =Ry

(&) T srezrer T B GHE SehEET 1 ST foRAT ST SR
(1) T ST HT UF AT HR LAYV Aok & AT AT
LR

Answer: (B)

33. If January 1st, 2007 is Monday, what was the
day on 1st January 1995?

(A) Sunday
(B) Monday

(C) Friday
(D) Saturday
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33. afe 1 swadt, 2007 wem 2, dt 1 swedt 1995 =t e faa
or?

(QREEL (G RIET L

CUAILEL (&) v
Answer: (A)

34. Insert the missing number in the following
series:

4 16 8 64 ? 256

(A) 16 ©) 32
(B) 24 (D) 20

34. frfafaa saer & adar He S

416 8 64 ? 256

(©) 16 (<) 32
() 24 () 20
Answer: (A)

35. If an article is sold for Rs. 178 at a loss of 11%;
what would be its selling price in order to earn a
profit of 11%?

(A) Rs. 222.50 (C) Rs. 222
(B) Rs. 267 (D) Rs. 220

35. Ffe =g aeq 11% =i &1 vt 178 v # sr=ht sireft 215 11%
1 AT ST o T8 saenT Tk we @ gm?

(V) 222.50 (<) 222 %
(<) 267 = () 220 =
Answer: (C)

36. WYSIWYG - describes the display of a
document on screen as it will actually print:
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(A) What you state is what you get
(B) What you see is what you get
(C) What you save is what you get
(D) What you suggest is what you get

36. WYSIWYG - GhH 0 T a&arast 3 e &7 aol s
2 Fifeh I areaa | e

(v) =19 it e & 98 AT ferdt o
(@) =19 ST TEd € FET SR Hrerd §
(&) T it s @ S frerr @

(=) 319 S gAE 4d &, 98 SATIh! frerdr 8
Answer: (B)

37. Which of the following is not a Computer
language?

(A) PASCAL (C) FORTRAN
(B) UNIX (D COBOL
37. frefeafad o & S et v & 87

() et (eft) rem

() e (& e
Answer: (B)

38. A key-board has at least:

(A) 91 keys (C) 111 keys
(B) 101 keys (D) 121 keys
38. s fi-aE ¥ F9 ¥ FA;

(x) 91 e (ef) 111 e
() 101 =it () 121 5=k
Answer: (B)

39. An E-mail address is composed of:
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(A) two parts (C) four parts
(B) three parts (D) five parts
39. T 3-8 Ud § T 2

() &1 writ () = st
(@) &= ©IRERR
Answer: (A)

40. Corel Draw is a popular:

(A) Illustration programme
(B) Programming language
(C) Text programme

(D) None of the above

40. 1A ST Th AR 2

(v) foror shisee (&) uTe i
(o) e s (D) 3R # & #1¢ 7
Answer: (A)

41. Human ear is most sensitive to noise in which
of the following ranges:

41. 9 1 TR % g ge@ s1feres Goeeiier gian &, S e |
g UF g

(A) I-2 KHz
(B) 100-500 Hz
Answer: (Wrong question)

(C) 10-12 KHz
(D) 13-16 KHz

42. Which one of the following units is used to
measure intensity of noise?

42 . i < e 79 & forw fferfiaa & @ forg gonts o1 saam
foram Strar 272

(A) decibel | (B) Hz
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(C) Phon | (D) Watts/m2
Answer: (A)

43. If the population growth follows a logistic
curve, the maximum sustainable yield:

(A) is equal to half the carrying capacity.
(B) is equal to the carrying capacity.

(C) depends on growth rates.

(D) depends on the initial population.

43. =fe SAEE 9fg TF STARIHS a5k 1 SFTERT Ll &,
Ffershee Tl 3

(T) o ST T &t F T % S 2
(sf1) = ST T amaT % SR R

() forprar ot o foreft et 2

() wrifire St W faft s 2
Answer: (A)

44. Chemical weathering of rocks is largely
dependent upon:

(A) high temperature
(B) strong wind action
(C) heavy rainfall

(D) glaciation

44, TgT T THEHS 3T9ETT HTT B doh T LT =

(T == qum GhHELRUEL]
CHESCUEEIEACIH () fewe
Answer: (C)

45. Structure of earth's system consists of the
following:
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Match List-l with List-1l and give the correct
answer.

List-1 (Zone) List-11 (Chemical Character)

(a) Atmosphere (i) Inert gases

(b) Biosphere (ii) Salt, fresh water, snow and ice
(c) Hydrosphere (iii) Organic substances, skeleton matter
(d) Lithosphere (iv) Light silicates

45, qedt it woredt it TreEr 7 fFrefatad e &

geft- || o wrer gefi- | o forerr L 3fie ge s dl
geft- | (&) g=hi- | (vremates aoi)

() amgr=a (1) Hfswa 6

(=) srrehieR (i) TR, arsT O, % TR 9%
(&) Sreriea (i) et garef, shehret gare
(d) foremedier (iv) serreT faferehe shtar &

Codes:

@ @® (© @
(A) () (i) (i) (iv)
B () (i) (i) (v)
(0 (@) (i) (i) (iv)
(D) (i) () (i)  (iv)

Answer: (B)

46. NAAC is an autonomous institution under the
aegis of:

(A) ICSSR (C) AICTE

(B) CSIR (D) UGC

46. NAAC & Teamaea™ § U e 68 8

(v) sgeiTaTER (GRS IEEIEIE

() ©ft.wH. 7. 3T, (31) 7.,

Answer: (D)
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47. National Council for Women's Education was
established in:

(A) 1958 (C) 1989
(B) 1976 (D) 2000
A7 . wfeen e o for T aftsg i wmET i T8
(v) 1958 (<) 1989
(B) 1976 (&) 2000
Answer: (A)

48. Which one of the following is not situated in
New Delhi?

(A) Indian Council of Cultural Relations

(B) Indian Council of Scientific Research

(C) National Council of Educational Research and
Training

(D) Indian Institute of Advanced Studies

48. FfaRad o @ =i =3 fooet # fed =2t 27

(©) st wieepfeeh, water i

(B) st asfes e aive

() T feres ST SR SfRreor aftye
() IRt 39 eI T

Answer: (D)

49. Autonomy in higher education implies
freedom in:

(A) Administration

(B) Policy-making

(C) Finance

(D) Curriculum development

49, 3= e & TarRar 1 e SEdedr H |
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() sremE () fo
(fY) Hifa-famor (S RICRERREEIE]
Answer: (D)

50. Match List-1 with List-11 and select the correct
answer from the code given below:

List-1 (Institutions) List-11 (Locations)
(@) Dr. Hari Singh Gour University (i) Mumbai
(b) S.N.D.T. University (if) Baroda
(c) M.S. University (iii) Jodhpur
(d) J.N. Vyas University (iv) Sagar

50. g=ft- | &t g=ft- || & firemd ofk i fow g e & @@t s
SEN

D

- | (aerm) - 11 (eom)

(w) <1 eft fifg e Rt (i) Hed
() o E A, Bt (i) w9

(&) @ @ frafarme (iii) st
(&) .. = frafame (iv) =
Codes:

@ ® «© @
(A (v) (@) ) (i)
| @ ) (i) (iv)
€ Gy @) ) (i)
Oy ()  (v) () (i)
Answer: (A)
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